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1) Suppose you want to use the DataSet class to find the Country object with the largest population. What condition must the Country class fulfill? 
Answer: It must implement the Measurable interface, and its getMeasure method must return the population. 
2) Why can’t the add method of the DataSet class have a parameter of type Object? 
Answer: The Object class doesn’t have a getMeasure method, and the add method invokes the getMeasure method. 
3) Can you use a cast (BankAccount) x to convert a Measurable variable x to a BankAccount reference? 
Answer: Only if x actually refers to a BankAccount object. 
4) If both BankAccount and Coin implement the Measurable interface, can a Coin reference be converted to a BankAccount reference? 
Answer: No — a Coin reference can be converted to a Measurable reference, but if you attempt to cast that reference to a BankAccount, an exception occurs.
5) Why is it impossible to construct a Measurable object? 
Answer: Measurable is an interface. Interfaces have no fields and no method implementations. 
6) Why can you nevertheless declare a variable whose type is Measurable? 
Answer: That variable never refers to a Measurable object. It refers to an object of some class — a class that implements the Measurable interface. 
7) What does this code fragment print? Why is this an example of polymorphism?
	DataSet data = new DataSet();
	data.add(new BankAccount(1000));
	data.add(new Coin(0.1, "dime"));
	System.out.println(data.getAverage());
Answer: The code fragment prints 500.05. Each call to add results in a call x.getMeasure(). In the first call, x is a BankAccount. In the second call, x is a Coin. A different getMeasure method is called in each case. The first call returns the account balance, the second one the coin value. 
8) Suppose you want to use the DataSet class of Section 9.1 to find the longest String from a set of inputs. Why can’t this work? 
Answer: The String class doesn’t implement the Measurable interface.
9) How can you use the DataSet class of this section to find the longest String from a set of inputs? 
Answer: Implement a class StringMeasurer that implements the Measurer interface.
10) Why does the measure method of the Measurer interface have one more parameter than the getMeasure method of the Measurable interface? 
Answer: A measurer measures an object, whereas getMeasure measures “itself”, that is, the implicit parameter.
11) Why would you use an inner class instead of a regular class? 
Answer: Inner classes are convenient for insignificant classes. Also, their methods can access variables and fields from the surrounding scope.
12) How many class files are produced when you compile the DataSetTester3 program? 
Answer: Four: one for the outer class, one for the inner class, and two for the DataSet and Measurer classes. 
13) Why is it necessary that the real class and the mock class implement the same interface type? 
Answer: You want to implement the GradingProgram class in terms of that interface so that it doesn’t have to change when you switch between the mock class and the actual class. 
14)  Why is the technique of mock objects particularly effective when the GradeBook and GradingProgram class are developed by two programmers? 
Answer: Because the developer of GradingProgram doesn’t have to wait for the GradeBook class to be complete. 
15) Which objects are the event source and the event listener in the ButtonViewer program? 
Answer: The button object is the event source. The listener  object is the event listener. 
16) Why is it legal to assign a ClickListener object to a variable of type ActionListener? 
Answer: The ClickListener class implements the ActionListener interface.
17) Why would an inner class method want to access a variable from a surrounding scope? 
Answer: Direct access is simpler than the alternative — passing the variable as a parameter to a constructor or method. 
18) Why would an inner class method want to access a variable from a surrounding If an inner class accesses a local variable from a surrounding scope, what special rule applies? 
Answer: The local variable must be declared as final. 
19) How do you place the "balance: ..." message to the left of the "Add Interest" button? 
Answer: First add label to the panel, then add button. 
20) Why was it not necessary to declare the button variable as final? 
Answer: The actionPerformed method does not access that variable.
21) Why does a timer require a listener object? 
Answer: The timer needs to call some method whenever the time interval expires. It calls the actionPerformed method of the listener object. 
22) What would happen if you omitted the call to repaint in the moveBy method? 
Answer: The moved rectangles won’t be painted, and the rectangle will appear to be stationary until the frame is repainted for an external reason. 
23) Why was the moveBy method in the RectangleComponent replaced with a moveTo method? 
Answer: Because you know the current mouse position, not the amount by which the mouse has moved. 
24) Why must the MousePressListener class supply five methods? 
Answer: It implements the MouseListener interface, which has five methods. 








